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PART - II : SCHOLASTIC APTITUDE TEST
(For Students of Class VIII)
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
open the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part - L.

2. There are 90 questions in this test. All are
compulsory.

3. The question numbers 91 to 110 belong to
Mathematics, 111 to 145 pertain to Science and
146 to 180 are on Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Do not mark ‘v’ or “X’in the OMR Sheet.

5. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6. If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet / loose paper.

8. Each correct answer will be awarded One Mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

10. Quote your seven digit Roll Number without fail
for any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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91.

92.

93.

94.
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sewflgLd / MATHEMATICS

(I, eUTS6T 6L (HET 3.2 ewefl Crr&dlev 91.

135.04 &5 CgTemeenald SLSSHmT
6T6ufl60 eUTSH6aT S l6tT GouaHid :
(1) 422 &lif. / wewsfl

2)  4.22 &5, / wewf
(3) 422 &5 / wewfl
4) 42 &5, / wew

4x2+6xy 8 CUMILIBNEG 31>+ xy + 3y> 92.

2 | 60T 6T6M&SS Gn L L Geetor(pld ?
(1) x%+5xy—3y?

(2) x2—>5xy—3y?
(3)  x%+5xy+3y?
(4)  x%+6xy—3y?

Q@ F55MD 3 allarmessfle 48 (psmm 93.

g dlarmg eresfley 30 ellermiy s6fleo
I|EFSSITLD GLPEYILD 6T600T650f 156085 :

(1) 480 2) 300

3) 100 4) 360

QarhssiulL uLgdle “x”
JleTe| (AB Lymmitd CD (@)enewr) :

3%[1
A4 \B

34

X
C< ‘Z »D
(1) 45° 2) 50°
3) 60° 4) 75°

— @)\ 6T 94.

A motorist covers a distance of 135.04 km

in 3.2 hours. The speed of the motor is :

(1) 422 km/hour
(2) 4.22 km/hour
(3) 42.2 km/hour
(4) 42 km/hour

What should be added to 3x>+xy +3y? to
obtain 4x?+ 6xy ?

(1) x%+5xy—3y?

(2) x%2—5xy—3y?
(3)  x%+5xy +3y?
(4)  x%+6xy—3y?

A wheel makes 48 revolutions in 3 seconds.
The number of revolutions in 30 seconds
is:

(1) 480 (2)
(3) 100 4)

300
360

The measure of “x” in the figure is (AB

and CD are parallel) :

3%21
A< »B

3[4

X
C< / »D
(1) 45° 2) 50°
3)  60° 4) 75°
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95.

96.

97.

98.

99.

3P +4 =25 etufleb P —{g)ear Loglliy :
(1) 4 2 3
®) > @) 7

2055058 wGL Wiy WYY
sTevoT S61fl6dT S (D6 30 6Tevflev @lemL Guu
S|6WMLOLL|LD 6T600T :

1) 10 @) 11

3) 12 4) 9

@ GMILNILL QgmemsiLmeTs) 8% 6l lg
ofssdle 5 pemBaefles I 10,080

I, HImg) e6sfl6v 9560 :
(1) ¥ 6,000 2) 6,600
3) ¥ 6,800 4) T 7,200

QM P&CaTamsSlar qhs @\t
LESMIG 6T S (HSHEID eL6ITMTEIG

USS55m& il YUETER
(1) GmMEITs

(2) gdsrs

(3) &L

4)  erghlevemev

112, o . .
Sog o0 sTeifIlLl 61119 07160 2616 LIGH SluSl6aT
@leusanis6fler gn(hgev :

1) 4 2 5

(3) o 4 7

96.

97.

98.

99.

If 3P+4=25thenPis:

If the sum of three consecutive integer is
30, then the middle number is :

1) 10
(3) 12

A certain sum of money amounts to
< 10,080 in 5 years at 8%. The Principal

amount is :

(1) 6,000 ) 6,600

(3) 6,800 (4) 7,200

The sum of the lengths of any two sides of

a triangle is than the third

side.

(1) smaller
(2) greater
(3) equal
(4) None

The sum of the digits of the denominator

in the simplest f f 2.
in the simplest form o 508 -
1) 4 2 5



100.

101.

102.

103.

7—0 QI @& SLTSHS GlsmetorL miflous s

6T600TS>61{160T 6T600T 60011 H60 S5
1) 16 2) 18
3) 19 @) 17

(1052 — 518) o9 (215. — 1) gyev

UG5S SHlenLLILg) :
10 LB.
116

(1) 51F. )
3) 21F. (4)

;—1 66T 6T 6voT 6o 160 (B E &I 6TIHS

6TeuoT600f lsm6TTS> SLAIG ST g SevL &G ?

34 —142
M 99 2 59

142 ~34
G 59 @) 59

HElpsdl L L Slles Lirlinere] (w=3.14) :

10 Gl&.Lf.
(1) 100 G&.f.2
(2) 785 Gg.b.2
(3) 215 Q&.8.2
(4) 40 Q&.18.2

100.

101.

102.

103.
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The number of 2 digit numbers containing

a number 7 is :
(1) 16 (2) 18
3) 19 4 17

Dividing (10 m>—5 m) by 2 m—1) is :

(I) 5m (2) 10m

B) 2m 4 1m

The number which is subtracted from —

11
o get g Is:
1 34 ) —142
@ 9 2 59
g 142 g
®) 5 @ 5

The area of the shaded part is (r=3.14) :

10 cm
(1) 100 cm?
(2) 78.5 cm?
(3) 215 cm?
(4) 40 cm?
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104.

105.

106.

107.

YltTeu(mevsaTaLMemMLI GILIT(5 & G)5.
Qx+3)2x—3) () —10x3y+6xy
5x(4xy —4) (i) —12y3
— 2xy (522 3)
4y>x (—3y) (iv)
1) (@)-(id), (b)-(), (c)-(iv), (d)-(ii)
(@) (a)-(iid), (b)-(iv), (c)-(3), (d)-(ii)
() (a)-@v), (b)-(iii), (c)-(i), (d)-()

4 ()-(i), (b)-(iii), (c)-(i), (d)-(iv)

(iil) 4x2—9

20x2y —20x

9982 —6aT Lo :
(1) 96004 (2) 99660004
(3) 996004 (4) 100000

(5 OF6uas aulpa HlovSSler LITLILIoTE
(@%2—Db?) E8IT HVGS6T LMHMID 9|SH60LD
(a—Db) VGBS 6T6vfl6v, )& 60T [HTLD :

1) (a—b) 2
(3) (a®—b) 4)

(a+b)

(a2+1b?)

3 pusefley 2 muFseT (B ChiLp&S
Carelley GCaiiey GauL®eu. @)ge6r
F56i510

1 66—2‘7 2 66—4(7
(1) 37 &) 37
3 66—1‘7 4 66—4‘7
(3) 27 () 57

105.

106.

107.

. Match the following :

(2x+3)(2x—3) (i) —10x3y+6xy
5x(4xy —4) i) —12y3
—2xy(5x2—3) (i) 4x>-9

42 x (—3y) (iv) 20x2y—20x

(1) (@)-(id), (0)-@1), ()-(iv), (d)-(i)
(2)  (a)-(ii), (b)-(iv), (c)-(1), (d)-(ii)
) @-@v), (b)-(iii), (c)-(i), (d)-(3)
@) (@), (b)-id), (c)-(1), (d)-(iv)

The value of 9982 :
(1) 96004 (2) 99660004
(3) 996004 (4) 100000

If the area of a rectangular land is (a®—b?)
square units whose breadth is (a —b) unit,

then its length is :
(1) (a-b) (2)
(3) (@-b) (4)

Only 2 persons out of 3 will be selected in

the interview. The percentage is :

1 66 % 2 66 = %
o 37 2) 37
3 66—1‘7 4 66 = %
() 27 () 57



108.

109.

110.

R @[ F&58T uTsarSdler ailenev
2 g eter (D& EHSE (peor T 70,000 o8
B®HESG!- BT L e HESTID
4% efsl GmmEnG. eTefley, 9|60
SNHCUTEMSIL Lo :

(1) % 64,512 2) T 45,612

3) ¥ 76,852 4) ¥ 75,000

20 9jip Hempssm erenf], Semyulledl(mHHs
16 Qg 2 WirSSHlev Sievifleneors GGT(hiomm)
gMi&s eneussasLLL (heTerg 6Tevflev,
geurfledlpE g 67 emflullear 9)ie L1L1& $l—
IITGIT | 6T6LIELIETEY STTEHS6V 2_6T6ma| ?

(1) 24y @ 102y

(G) 142y @) 129

shesuiler auug) waeaflsr auwglenery
Gumey 5 WLMRISTS 2 6TeTG).
2 9 600T(h& (ETH S G LleatenTiT, Sibem uileor
UL, LS6flear euILEm S GLITEV 4 LoL (S
6T6vflev, Log6fleaT SHCLTEMSILI 6LILIG) -

(1) 3 oy emor(hl&eT

(2) 6 gyEvoT(hiS6T

(3) 40 gy etoT(HS6IT

(4) 30 g euoT(HS6IT

108.

109.

110.
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The value of a motorcycle 2 years ago was
% 70,000. It depreciates at the rate of 4%

per annum. The present value is :

(1) T 64,512 (2) T 45,612

3) ¥ 76,852 (4) ¥ 75,000

A ladder of 20 feet leans against a wall at
height of 16 feet from the ground. How
far is the base of the ladder from the

wall ?

(1) 24 feet (2) 10 feet

(3) 14 feet (4) 12 feet

Father is five times as old as her daughter.
After 2 years, the father will be four times
as old as his daughter. The present age of
the daughter is :

(1) 3 years

(2) 6 years

(3) 40 years

(4) 30 years
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9IMleNui60 / SCIENCE

111. 90°6T6oTLIENS GITigILIGITTS LOTMN)IS. 111. Convert 90° into radian.

T

(1) % @rrig wi6dT (1) 5 radian
(2) g @rrig wi6dT (2) g radian
2w . 2
(3)  — Gmgwedr (3) — radian
2 2
3 . 3
4) > @rrig wi6dT 4) > radian

112. Biflwe YWsS aHeT IjgliuemLuile 112. The hydraulic press works according to
QuigHom?
(1) onmiey (1)  Friction
(2) umiy eflens (2) Surface tension
(3)  Sireuruseflesr Ly elleng (3) Buoyant force of liquid
(4) umeS6 OIH (4) Pascal Law
113. GameTs gile QETNIET AIMATR| SLTLD 113. Find the focal length when the radius of
30 G&.8. ereoflled gHer GeNlwus curvature of a spherical mirror is 30 cm.
CgTemeueileneTs Smetors.
1) 15 Q&b 2) 25 Q&b (1) 15 cm 2) 25cm
3) 20 Q.. 4) 10 Qg.f. (3) 20 cm 4) 10 cm
114. Hl&STHM WHDID SLNSTHM IS 114. Formation of land and sea breeze is due
HSL6|S6IT 2_(HEUTaSM(E SHTTT60TLD : to :
(1)  Qeuliu&FgevesTLD (1) Convection
(2) GeLSsL G560 (2) Conduction
(3)  Geanussdiiaiss (3) Radiation
4) smeurblemev LOTHMLD (4) Change in season



115. QUTHS58I5.

(a) Gleuliy (i)  elevedld
& DHemel &lsoLim_

(b)  &Geumfl (i) &7 Gegiberv
L gleum

(c) [Hlemev (i)  QLUIrEMTD
LO6OT SITL L. (A7) (7

(d) SRS @eme (iv) Gy
hlemeuLdleoTam Lg 6D EFLOGIT

6UITLIEVITEN

1) (a)-(i), (0)-(iv), (©)-@), (d)-(iii)

)  (@)-(i), (b)-(i), (c)-(ii), (d)-(iv)

(3 @-0), (b)), (c)-(iv), (d)-(ii)

) (a)-(i), (b)-(ii), (¢)-(iv), (d)-(i)

116. @ 2 Gorssdlear ger Geulu
TS SHmenflesr iy 200 Jkg ~ 1K~ 1.
2 8.4 Henpuerer 2 Geomrs e
Qeuliuflemevemi 125°C —e0l(mh&1 325°C
o8 2 WIESS GCHmau@d Glaiiu
IL,MHME0l6T SIS SHT6toTs.
(1) 40000 J (2) 80000 J
(3) 8000 J (4) 2000 ]

117. QUT(585.

(@) 1 &I i) 3.28 9|
b) 106em&GLr (i) 10.76 &8IT
Sy

() 1ulLr (it) 4047 L2
(d) 1egwdliLr (v) 247 g&si
(1) (a)-(ii), (b)-(iv), (0)-(), (d)-(ii)

(2)  (a)-(ii), (b)-(1), (0)-(iv), (d)-(ii)

(3)  (@-(v), (0)-(0), (c)-(iii), (d)-(ii)

4)  (a)-@), (b)-(i), (c)-(iv), (d)-(iii)

115.

116.

117.
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Match the following :

(@) Thermos Flask (i)  William
Gilbert
(b) Calorimeter (i) Sir James
Dewar

(c)  Electroscope (iii) Abraham

Bennet
(d) Gold Leaf (iv) Pierre Simon
Electroscope Laplace
(1) @-(id), (b)-(v), (c)-(1), (d)-(iid)
(2)  (a)-(), (b)-(0), (c)-(iii), (d)-(iv)
(3)  (@)-(), (b)-(iii), (c)-(iv), (d)-(ii)
(4)  (@)-(iti), (b)-(i), (c)-(iv), (d)-(0)

The specific heat capacity of a metal is
200 Jkg~'K~1. Calculate the amount of
heat energy required to raise the
temperature of 2 kg of the metal from
125°C to 325°C.

(1) 40000 ] (2) 80000 J
(3) 8000 ] (4) 2000 J

Match the following :

(@) 1 Acre (i) 3.28 feet
(b) 1 Hectare (i) 10.76 Square
feet

(c) 1 Meter (iii) 4047 m?

(d) 1 Square meter (iv) 2.47 Acre
1) (@), B)-v), ©)-), (@-)

@) (@), O)-(), (©)-(v), (-()

(3)  (a)-(iv), (b)-(), (0)-(i), (-(i)

() @-(), (b)-(i), (©)-(iv), (d-(i)
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118. SUIPHTL 60 LMSSH0 ellememurl oM@ 118. The district with gentle slopes which is best

6Tm Lenevd &ifleysemers Glamesor(heimer suited for para gliding :
LomeUL L LD
(1)  Geugymr (1) Vellore
(2) Gaeuld (2) Salem
3)  HerHss (3) Dindigul
4) GComubysgmT (4) Coimbatore
119. i{ 1= sreirm GHUSH @ilug : 119. i{ ||}-= this symbol denotes :
(1)  LhletTaH6VLD (1) Cell
2) GsrHamei (2) Switch
(3) Ulerse 9HSE (3) Battery
4) [emevoTiiLS S0 (4) Connecting wire

120. 40°C -8 Ssumryerenl ojereil’le NS 120. Convert 40°C into Fahrenheit :

LOMMHMELLD.
(1) 102°F 2) 104°F (1)  102°F 2) 104°F
3) 106°F (4) 100°F (3) 106°F (4) 100°F

121. sflurer @ememreowsd CHinGsHH S 121. Choose the correct pair :

&H6LD.

1) & 9ye — 9 LDL|FUEBT6I (1) Concave mirror - Ambulance

2 oy gye — egyifu gy (2) Convex mirror - Solar cooker

(3) By L6 e (h — eurseTrhisaflear (3) Newton's disc - Car head lamps
WsLIY 69675 S

(4) YerGenrmer@ yle— Himiilfens (4) Rear view mirror - Dispersion

10



122.

123.

125.

2 Geumall LT Sememild, 9|GemaL
uesorL&ememin GlummisTem &evflLomiser
6T60T S6mLSSLILI(H\SI6aTM6TT.

(1) 2 Gerss SHeemel

(2) 2 GeorsL GUTeN&6T

(3) Garomiser

4) 2 Gourseilie

auemevLig  @mil  swmflgsedle
aflem 6T L, & SIS Q&wesLbhloug)
(1) 2 Geurss @)(mLoy

(2) FreVL

(3) H5s60

4) emaML 76T S60emLI(h

__________ o LerT &fl&gmer Canss)
Qg LIGILT(m6T SWMSSILIGHIEIMS.

(1) emELTe6sT

(2) emamLGrm SmiLeT

(3)  yGerdlegsm

(4) emeML a6

2 oI LIetfl&aL Lo 6T6OTLIS) -

1)  Fhlemeoullgyisirer oy Serdlegsar

S Hlemeouilenierem SHmiiLIeT—emL —
Il &eman(h

SlL_hlemeuuSleyieTar smmL_reeaT
SlL_hlemevuSlgpierar emamLreneor

11

122.

123.

124.

125.
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The elements which exhibits the properties

of metal and non-metals are called

1) Alloys
) Metalloids
3) Compounds
) Metallurgy

is used as a catalyst in the

preparation of Vanaspathi ghee.

(1) Cast Iron

(2) Yeast

(3) Nickel

(4) Hydrogen Sulphide

when mixed with powdered

charcoal is used as an explosive.

(1) Nitrogen

(2) Hydrocarbon
(3) Oxygen

(4) Hydrogen
Dry ice is :

solid form of oxygen

solid form of carbon-di-oxide

solid form of nitrogen

solid form of hydrogen
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126. GaCa() sHliseaflsr LTS GNSHS
SEUMTEIT Sn HMISH606NTE S6uoT(hLillg SEH6|LD.

(a)

(1)
()
()
(4)

Cabarh sdliser, Hlenm wnmd
Qss 9 HMEDHM &I&6TEHETT6
2 (HEUTESLILL L M6,

CasGsTMH sdlissm CHICHTL 1960
Liwleusf1&&5leaTmeur.

CasCar® &dliser Cridler
giemLeniLL! GlummI6TemeoT.

CaGaT(H sHliasT Wsmjsld LHmID
SMHSLILIEVSSHIT6V HIRIEY:E
Lo6mL_&5l6aTM6TT.

(a) LoD (b)

(b) Lopmitd (<)

(a) LMD (<)

(b), (c) Lommitd (d)

127. wror eil&Hs efllemiws g e :

1
2

(1)
(2)
(3)
(4)

4

(e.Gen. gmb&sT
sueUMLISILIT
SOIT6AT L_IT60L_63T

GegmraLi LNGITaTaVL

128. Geuglufwev ormmid HlsLpes) :

umev Suilyms; Lmmieug)

&EE @oiv 2 BES

Lilg SLOME(E)SH6V

206 STESMES  giomh-

SH6IMITE G SH6V

12

126. Pick out the wrong statements about the

127.

128.

properties of cathode rays.

(@)

Cathode rays are made up of
particles which do not have mass

and kinetic energy.

Cathode rays travel in straight line.

Cathode rays are positively charged

particles.

Cathode rays are deflected by both

electric and magnetic fields.

Law of Constant Proportion was proposed

by :

1
2

1)
(2)
()
4)

4

].J. Thomson
Lavoisier
John Dalton

Joseph Proust

Chemical change takes place in

curdling of milk
melting of ice stick
crystallization

paper made into bits of paper



129.

130.

131.

QUTL&E15.
(a)  eTmLDLY () oiflo
I|LhleuLd
(b) SIS Gi) Lmremfle
LOMmILD I|LblevLd
eleumI(&) &6iT
(c) &mieng (il)) UTSle&
I|LblevLd
(d) umev (iv) umTLh&
I|LblevLd
1) (a)-@), (b)-(i), (c)-(iv), (d)-(iii)
(2)  (a)-(ii), (b)-(ii), (c)-(iv), (d)-(0)
©B)  (a)-@), (b)-(v), (0)-(ii), (d)-(iii)
4)  (a)-@iv), (b)-(0), (0)-(ii), (d)-(iii)
6m QM LI Eh BT CusGrmemusum
SITI] & & 60T 60 LOLL| 61T 61T L0 6507 6u5f1 60
ELETOT6OOT HSI6V LIS (SLD.
(1) osTgHm 2) fBeuid
(3) GleueTemer (4) LoEhE6T
greut QU Grmedlw  eumwy eTeTLG)

(1)  op&edlegeT 35% LGTTIGLSET 65%
(2) UBsGHe8T 45% LNy GL 6T 55%

(3)  yGrmiGuesT 15% Llul” GLedr 85%
(4)  o&aOle6T 25% mRMLITM6T 75%

13

129.

130.

131.
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Match :

(a) Ant (i) Organic acid

(b) Plants and (i) Tartaric acid
Animals

(c) Grapes (iii) Lactic acid

(d) Milk (iv) Formic acid

1) (@)-() (b)-(i), (c)-(iv), (d)-(iii)

(2)  (@)-(iid), (b)-(ii), (c)-(iv), (d)-()

3)  @-() (b)-(iv), (c)-(i), (d)-(iii)

@) @)-(v), (b)-(1), (c)-(i), (d)-(iii)

In acidic soil, Hydrangea macrophylla

blossoms in colour.
(1) Pink (2) Blue
(3) White (4) Yellow

Liquid Petroleum Gas is

(1) Oxygen 35% Propane 65%
(2) Methane 45% Butane 55%
(3) Propane 15% Butane 85%
(4) Oxygen 25% Hydrogen 75%
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132.

133.

134.

GOMIFSHPmoL UTHESTS  aumw

(1) @uwmens ey

(2) smiusTenL ) Semean(h euri

(3) smiueT GLomeTTSHema(h eumLy

(4)  EWMBLITEEIT GUITLLY

QummS515.

(a) UGSl 6ge! (i)  Gulevevsiv
um&lerflum I HSITElN

(b)  &S(H6IT Gulg6 (i)  eNfIGw
UmSLerflwm SITVITIT

(c) &LOM 6uig6) (i) e @rGLT
unSlerflum FHITSHH6N

1HGLomesflwm

(d) GComoealger  (iv) Gamedls

um&lerflum CamursLiT
smLIGsvrmf]

(1) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(0)

(2)  (a)-@iv), (b)-(1), (0)-(ii), (d)-(iii)

(3) (@), (B)-v), ©-(iid), (d-()

4)  (@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

wesflgefleor @GLedleb urpd 61.Csmemen
UM SLelfliwld LHMILD
2 NuUGE  Gawadle

2 SIS

(1)  emeul_L Lhler A Lommid E

(2) emeulL LhledT B Lommid C

(3) emeulLifler K wmm B
G L (QIGILT(meTS6T

(4) emeulLLletT A LommID D
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132. The gas which does mnot affect
environment :
(1) Natural gas
(2) Carbon-di-oxide
(3) Carbon monoxide
(4) Nitrogen
133. Match the following :
(a) Ball shaped (i) Bacillus
bacteria anthracis
(b) Spiral shaped (i) Vibrio
bacteria cholera
(c) Comma shaped (iii) Streptococcus
bacteria pneumoniae
(d) Rod shaped (iv) Helicobacter
bacteria pylori
(1) (@), (b)-(iv), (©)-(), (d)-()
2)  (@)-(v), (b)-(), (c)-(i), (d)-(iii)
) @), (b)-(iv), (c)-(iid), (d)-(i)
@) (@), (b)-(), (0)-(v), (d)-(ii)

134.

E.Coli bacteria in human intestine helps

in synthesizing and

(1) Vit. A and Vit. E
(2) Vit. Band Vit. C
(3) Vit. K and Vit. B Complex
(4) Vit. A and Vit. D



135.

136.

137.

ur & enem G & 6. MIT 6T
Gn MMISE06TS CHITHOSH(HSS0]LD.
(a) smeur Wgemel evorsmiuliliser

sTarLiL(D  urdlGer G a]D
micioTevefliwemen  Lmmio  Hifler
Gupuridle Ny
Gl metoTLy (HLILIEMEL.

(b)  uELULUTESET UTSHSms 2 HUSE)
Qg 2 g6 leTmenr.

(c) Heuliyw um &l & erfl 60 (5 &
TOSSLUUGG BT IS
sTeTLILI (N S m Gl @ 5
91116218 1 & 6ifl 60 6T & &
2aSHILITS Ol6MTaIGH HM S

(d) deoludmal urdlsefledmna
I|Gwimgetr GUmiLBHIEME)

(1) (b) whmd (d) o Gid

(2)  (a) LoOYID () WL

(3)  (b) opmith () LU

(4) () oo (d) G

‘STEUT 2_0&SSI6T @)1, eUMTLaISET 6T60T
I|mPSSLILI(H6LS) 6TS] ?

(1)  QLAGLTSemUL (h&6iT

2) WeorCumsosmul (Hi6iT

(3) ACermavGlLmbgsiT

4)  9epSIGuTEGlLIMDE6T

‘s evoTeunfleor  GleueioTemn LGS  eTeoT
ImP&SLIL(HES) :

(1) Syl (2)
(3)  eulaseliym (4)  &miesfhwi

sorfler

135.

136.

137.
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Pick out the wrong statements about

Algae.
(a) Phytoplankton are algae which are

very minute and floats on water

surface.

(b) Brown algae are used to produce

protein.

(c) Agar Agar extracted from red algae
are used to prepare growth medium

in Laboratories.

(d) Iodine is obtained by blue green

algae.
(1) (b) and (d) only
(2) (a) and (c) only
(3) (b) and (c) only
(4) (c) and (d) only

Which is called the “Amphibians of the
plant kingdom” ?

(1) Pteridophytes

(2) Bryophytes
(3) Gymnosperms
(4) Angiosperms

‘White of the eye’ is called :

(1) Pupil (2) Iris

(3) Sclera (4) Cornea
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138. GUT(K5815.

(a) &lGeormelwey
glIreuLd

(b) &ed e ()

(©) &ilpeuEs el

(d) SemammT

(i) [BeTomeT FenT

L (HGw umpdl

GLp6V 9|mIL&lS

Sng
(ii)  6TEYILDLIL 63T
6TEVILDEMLI

@enemrSEIng)

(i) eLp(H6merT
ELEMATHGH6)|LD
CrIT&Hsa D
oL (HGLo

IjeISESHng)
(iv) eyl (hseaflaierer
GnIS6SNIDL

HEHSHS
(@lemL_uflevmeor
9 _[MLIENEUS

GON&SHNG|

1) (@-@v), (b)-(iid), (c)-(i), (d)-(ii)
(2)  @-), (B)-(iv), (c)-(i), (d)-(iii)
(3 (@)-(), (b)-(0), (0)-(ii), (d)-(iv)
4)  (@)-(id), (b)-(ii), (c)-(iv), (d)-(i)

139. HaupreT @amamaowsd CsiHesH s

&L

(1) Sol§Lom —

(2) &M eNlTeLS6iT

6L60l6MLOLLIT6TT 6TEVILOL]

— LM &60&61T

(3)  (rsTe — L GlLsvsur

(4)  sGLL6

— Gevament eTeYILDL]
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138. Match the following :

(a)

Synovial (i) Allows rotation

fluid about its
longitudinal axis

Hinge (i) Connect bone to

joint bone

Pivot (iii) Allows only

joint bending and

straightening of

joints

Ligament (iv) Reduce friction

between articular
cartilage in the

joint

(@)-(iv), (b)-~(iid), (c)-(), (d)-(ii)
(@)-(), (b)-(iv), (c)-(if), (d)-(iii)
(a)-(if), (b)-(i), (c)-(iii), (d)-(iv)
(a)-(iit), (b)-(i1), (c)-(iv), (d)-(3)

139. Choose the incorrect pair :

Femur - Strongest bone
Toes - Tarsals
Knee - Patella

Stapes - Lightest bone



140. ellowriGsefler  Comedled @ HE
Qupliun Bwsds 2 GrrwmissT
——— 4 YETG.

(1)  Gamupiy

(2) Ursid

(3) smGumsmamL G
(4)  Gum_Lrlwid

141. SUOIPETL g6 oMblev efleomiE
(1)  suemmum(h)

(2) G g6
(3)  Gleusremm(®
(4) eomom

142. QUTHS58I5.

(a)  GTevor (i)  eumesoTLIT
Geurra6m

(b)  (pevor(h) (i)  oyeVLDTLD
Gourraeir

(c) el (eotemnll (i) &Y
Gourraeir

(d) GaTmy (iv) SeV@GLLIT
Geurra6r

(©) (@), (b)), (©-Gv), (-0)

) (@)-(i), (b)-(iv), (c)-(i), (d)-(iii)

(3 @-@), (b)-(iv), (c)-(ii), (d)-(ii)

@) (@)-(v), (0)-(0), (c)-(iid), (d)-(ii)

17
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140. The thick coat of hairs obtained from

141.

142.

animal are made up of

(1) Fat

(2) Protein

(3) Carbohydrates
(4) Potassium

The state animal of Tamil Nadu

(1) Varaiadu

(2) Sheep

(3) Goat

(4) Lama

Match :

(@) Prop Roots (i) Vanda
(b)  Stilt Roots (i) Banyan
(c) Parasitic Roots (iii) Sugarcane
(d) Epiphytic Roots (iv) Cuscuta
(1) (a)-(i), (b)-(iii), (c)-(iv), (d)-(3)
(2)  (@)-(i), (b)-(iv), ()-(1), (d)-(iii)
3 (@-@), (b)-(iv), (0)-(ii), (d)-(ii)
4)  (@)-(v), (b)-(1), (c)-(iid), (d)-(it)
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143. 8w

144.

145.

& ITIJ 600T LD

@mLIL6T &6ndlev, @emev
(PpeoLOWITS LommILm(h
L5 & Hemeu

6Llp 1SSl6V (@) (S GSLD.
STeUTSHleim

ur gISTININSTS
@iomuTH 2_6TeTg).

& MMl LHMILD SMysverd &ifl.
SOOI LONMILD STTETTLD SH6LM)).

SaMm &ifl, 9T SIyerid
G emm eileTs S0 leuemev.

&y &ifl, STrewrn g.mem
OGN

umenigwwi (pemmuiled Lmemsy GMIIL L
Cryd euemT SMUFS T(HSGISH6ISTET(EmL
Geuliuflemen

55°C (Lp&sv 60°C
70°C (p&ev 75°C
80°C (p&6b 85°C

60°C (P&8d 65°C

G EnHS6ame + 2 ullTeueafl — ?

Siflwifleveurmiy

siflwiblev eumuy + bt
siflwibleogumu) + i + gy mmev
siflwbleusumy + gy mHmev

18

143. Assertion :

144.

145.

Reason :

In Nepenthes, the leaves

are modified into pitcher.

This modification is due

to its protectiveness.

Assertion and Reason are correct.
Assertion and Reason are wrong.

Assertion is correct but Reason does

not explain Assertion.

Assertion is correct and Reason

explains Assertion.

During Pasteurization, milk is heated at a

temperature of

for sometime.

55°C to 60°C

70°C to 75°C

80°C to 85°C

60°C to 65°C

Glucose + Oxygen — ?

Carbondioxide
Carbondioxide + Water
Carbondioxide + Water + energy

Carbondioxide + energy



146.

147.
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Fopd MleSlwed / SOCIAL SCIENCE

Lsvevet Smew Gamuilevsseifley @)esormo
LM ©

6MENMEESH60 @NTHHIS6IT
@Iy FlinLosdT 616MS
&L_(hlLomeor Gamullsugeir

LTEmM& & L6 Camuilevser

Lmsm eTeoTm GleusiTef] mmesoriud Lommiio
solL_mev ereoTm Gl&dL [HiTeuoriLS Slem 6o
GeuarfludlLeurm

@levgLfleig
&SI D0lLS
LIT6VLIGOT

GEOSITEUTIT @MFelm

TeorLI6uIfl6oT LOGeT &l

Gi60SIT6OTIT.
Beoaufisy
&g Gamfl
(PSL8) SHedl6uf]

G0 DGlLS
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146.

147.

148.

The Second Style of temple of Pallavas :

Monolithic Rathas
Rajasimha Style
Structural Style

Rock cut Temple

Silver coin Tanka and Copper coin Jital

was issued by :

[Itumish

(1)
(2) Qutub-ud-din-Aibak
(3) Balban
(4)

Sultana Raziya

Sultana Raziya was the daughter of

[ltumish
Mohammed Ghori
Mohammed Ghazni

Qutub-ud-din-Aibak
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149.

150.

151.

152.

yoeorn samisr Gurr L Gumm

6607 (h) )
(1) 1193 &L, ) 1191 ..
3) 1192 &L (4) 1198 &1,

&Y. 1565 -0 menL Glupm Hemeud
CarieLl  Gumfly GCarmsies
SLILLL 6T :

(1)  emflairi
(2) USSIT
(3)  S(menemTCHaummLIT

(4)  [WLOFMLIT

@ré Gzl g aIETSSTILSLD

S|6MLOHGI6TET @I LD :
(1) ys SHlevedl (2) (LemL
(3) GamusssT  (4) G&sTener

6T Wwdlleomesr emumi CrmL Ly 6m6uT

WPEOTYPSOTsS @IHSW fare aumid
Gleuefluil g ?

(1) e ehumi GEm_(H

(2) @ireior(® emumi Crr®
(3) bl epumil GET_(H

4) udgl emumil GrTC(H
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149. First Battle of Tarain was fought in the year

(1) 1193 AD (2) 1191 AD

(3) 1192 AD (4) 1198 AD

was defeated in the war of

Talikota in 1565 AD.

(1) Harihara
(2) Bukka
(3) Krishnadeveraya

(4) Ramaraya

. The National Archives of India is located

at
(1) New Delhi (2) Mumbai
(3) Kolkatta (4) Chennai

. Under what denomination did RBI issue

the first paper currency ?

(1) One Rupee note
(2) Two Rupee note
(3)  Five Rupee note

(4) Ten Rupee note



153. QUT(H58I5.

a)  Wlemmefls Gumm i) 1760
b) u&amt Gum i) 1757
o) eubGeurdl Gumr (iii) 1751

(iv) 1764

(

(

(

d)  opmem_ G Gumt
(1) (@)-(iv), (b)-(iii), (c)-(1), (d)-(id
( 3 . .

(

(

154. [@hGhu gy Sliussell 1D @uimm oL

155.

156.

9,6007(H) :

(1) 1862 2) 1861

3) 1859 (4) 1857

1928 -—guin  opeor(), UGS
afleugmuilser &6m6EVEMLOUI6V
g6 eTlINlenens Gl falsgeur.

(1) Coeasll smhalrTmil

(2)  eusveoLIM LI GL 6V

(3 smhEA

4)  eflewemy fsrveumsiv

LD SL6UOTIp 60T SIT STITEV6N

2 60 Sevell gi&ens, @\nSHmelle

Qyaidles soallullar “werergerin”

6T6ITN)| O(6MPSSL L(HISMS).
(1) 1854 (2) 1856
3) 1864 4) 1866

153.

154.

155.

156.
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Match the following :

a) Battle of Plassey @@ 1760
b)  Battle of Buxar @ 1757
c) Battle of Wandiwash (iii) 1751

iv) 1764

a)-(iv), (b)-(iii), (c)-(1), (d)-(i

a

(

(

(

(d) Battle of Arcot
(

(

( a

(

(a)-(
(a)-(id),
(a)-(ii),
(a)-(

a

ii), (b)-(ii), (0)-(1), (d)-(iv

The Indian Civil Services Act was passed

in the year :
(1) 1862 (2) 1861
(3) 1859 (4) 1857

In 1928 the peasants of Bardoli started

their agitation under the leadership of

(1) Keshab Chandra Roy
(2) Vallabhbhai Patel

(3) Gandhiji

(4) Bishnu Biswas

Sir Charles Wood’s

is called the ‘Magna Carta’

Despatch of

of English education in India.

(1) 1854 )
(3) 1864 (4)

1856
1866
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157.

158.

159.

160.

161.

el 2 flmwd sl Bl (oL

LBHSSUILL o soer(h):
(1) 2008 2) 2009
3) 2010 4) 2011

OF6oTEm6DT LILSEMEVE SLSLD [Hlmieui L
9,600T(H) :

(1) 1857
(3)

) 1867

1853 (4) 1855

a0 gpeor(p) egmnGlegi Ll
TISCO S6mL&&L1 LIL L G.
(1) (2)
3) 4)

1907 1911

1912 1870

@b&wmeiley 2_erer sa@Ir 6(m, GlEFELLI(HILD
sTiflLosmen 2 _6ierr @)L 10 :

(1)  emeumi Sey

(2)  UMTeT S6

(3) MmMT&6moTL LD &6
(4)  eovEES)

LUTEneUelETE  (Sylpe0led  &mmnilesrmey
Ifsaiul®H BeorL wemas6lGmLT

Gumren smewriu@L  HosCHmmHmLD
(1) [@eTE6ILITEEG 6T

(2)  Cosem

(3) Guam

(4) WML

22

157.

158.

159.

160.

Right to Education (RTE) Act was
implemented in the year :

(1) 2008 (2) 2009

(3) 2010 (4) 2011

Madras University was founded in :

(1) 1857 (2) 1867

(3) 1853 (4) 1855
TISCO was set-up in ____ at
Jamshedpur.

(1) 1907 (2) 1911

(3) 1912 (4) 1870

The only active volcano in India is :

(1) Hawai island

(2) Barren island

(3) Narcondam island
(4) Ice land

is a wind-abraded ridge

found in a desert environment.

(1) Inselbergs
(2) Zengen
(3) Mesa

(4) Yardang



162. er&GsomevLir gh&Hled Smevorll LD

6UITIL| 5> & 61T

(1)
(2)
(3)
4)

MEUL_TE06T LOMMILD QNJEOILLILD
6MRML_ITEN60T LOMMILD ) SH6rlensdT
enjsOILILD LoMMILD 9 S6rSlenedT

6MEUNL_TE06IT LOMMILD 6MIBL_T8Q68T

163. Hoor(h&s5HarGurg GG smerar
Coueiorigll BL AN SMSESHT SIS
SUNTET S NMSsHmersd Goin—

O3 (H&SaLD.

(a) UhledT SIS 6T, oIy LD,
&L L L w18 6rfle0l (5 &) aflev &
@\(m&sa L.

& lusems salliss erifleumwy
9By, C@GaTsEssT wHmiD
6161 & (I & 60 61T |60 6507 & 5
GouetoT(hlLd.

L &&L D& EMSE Udlams Ller
Gré&Hlemw LweTLI(HSS Goustor(hILb.

CLDUTERIST LHMID &SIhsL
uremsSefld  HEpsn oLl
Ge6v6vor(HLD.

(2), (b) HHID (c)

(b), (c) wbmitd (d)

(2) LoD (b)

(<) Wobyid (d)

23
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162. Exosphere consists gases of

163.

Hydrogen and Helium
Hydrogen and Oxygen
Helium and Oxygen

Hydrogen and Nitrogen

Find the incorrect statements.

The steps to be taken during earthquake.

Stay away from electric poles, trees,

buildings.

Switch off gas stoves, put off candles

or lamps to prevent fire.

Use lift instead of staircase.

Take shelter under flyover or under

passes.

(@), (b) and ()
(b), (c) and (d)
(@) and (b)

(c) and (d)
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164. GQUT(K5815.

(a)

1
2

(1)
()
(3)
(4)

4

ugfs (i) BevorL ‘S’
Guymfl 6Lllp 6
S6mLoLIL
I eumeonied (i)  Glgewr
Gumfl Guymfl
S[EUTL Mg &M (i)  6ULL g6
Guymfl S6mLoLIL
IYiTg & (iv) (p&Gaimsmor
Gumfl 6LlLp6L
SemLoLIL
(a)-(ii), (b)-(1), (0)-(iii), (d)-(iv)
(a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(@)-(iv), (b)-(1), (c)-(id), (d)-(iii)
(@)-(ii), (b)-(1), (0)-(iv), (d)-(iii)

165. G@UT(K5815.

L (i)  Sypuwmpll
LITEmME6T LITEmME6IT
guuremmser (i)  YOSSLU
LITemME61T
UespLmenfls (i) @ewmbS
LITEmME6IT LSS0
2 6iTer
LITEmME6IT
EMQMLILITEMLISE (iv) SMLL
LITEmMES6IT LIT6mmE61T
(a)-(i), (b)-(iv), (c)-(3), (d)-(iii)
(@)-(iv), (b)-(iii), (c)-(ii), (d)-(3)
(@)-(1), (b)-(ii), (c)-(iv), (d)-(ii)
(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

24

164. Match the following :

Elongated ‘S’
Shaped

Southern

Ocean

Circular
Shaped

Triangular
Shaped

(a) Pacific Ocean (i)

(b) Atlantic Ocean (ii)

(c) Antartic Ocean (iii)

(d) Arctic Ocean  (iv)

1) (@), (b)-(), (o)-(i), (d)-(iv)
2)  (@-(iv), (b)-(i), (c)-(iid), (d)-()
(3 (@-@v), (b)), (c)-(i), (d)-(iti)
) (@-(i), (b)-(), (0)-(iv), (d)-(iid)

165. Match the following :

(a) Sedimentary @)
Rocks

(b) Igneous Rocks (ii)

(c) Plutonic Rocks (iii)

Deep seated

rocks

Stratified

rocks

Shallow
depth rocks

Parent rocks

(d) Hypabysal (iv)
Rocks

1) (a)-(i), (b)-(iv), (c)-(1), (d)-(iii)

() (a)-(iv), (b)-(iid), (c)-(id), (d)-()

©G)  (a)-(), (b)-(ii), (c)-(iv), (d)-(ii)

(4)  (a)-(ii), (b)-(iv), (c)-(), (d)-(iD)



166. QuUTMEEHTE OlmemTaws Coim—

167.

168.

169.

O5(H\SSa L.

(1) &Iem6T LDGBOT  —  F6HOTED

(2) offlgowesr - UGS

(3) euemoTL6uLogmar —  GQImey

(4) Q&ibLoevor - Slewerrl
LuSiaseiT

g Giflw Geael&ssCaTH 2 6Ter

@IL_raigei

(1) oGsTmamL o
(2) oGsTSemLd
() oGsThse

4) oGseLGeomLmT

&L Crenss@h sy Crenss @

@eLlulL  ugd
6T6OTLILI(HILD.
(1) 2 emmuesf] Lo6voTL 6ULD
(2) & Qe LoetoTL 6uLd
(3)  6UMEBOTL LOGBITL 6ULD
(4) QeI evorL_6uLD
sTeoT &(medl Smrmunler
Cousgema gemeilL LweTLIbhEmE).
(1)  smm) omesf]
2)  WGWrGUTT(®H IjeTeme
(3)  emam&Grm LT
(4)  sTNWSSLTs
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1
2

1)
(2)
(3)
(4)

4
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166. Find the incorrect pair :

Laterite soil - Jute
Black soil - Cotton
Alluvial soil - Rice
Red soil - Millet

. Places having equal sunshine is called

Isohyet
Isocryme
Isohel

Isollobar

is a region between the

Tropic of Cancer and the Tropic of

Capricorn.
(1) Frigid Zone
(2) Temperate Zone
(3) Arid Zone
(4) Torrid Zone
is used for measuring wind
speed
(1) Wind vane
(2) Beaufort scale
(3) Hygrometer
(4) Barometer
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170. Somm) :

B gleflaer yellufler
Cupuridle @eflins
Qurmersefler g
uGbeurwsg  uef
2 (HEUTSIME.

STJ6uoTLD - QumpLsefler Gleuri—
Hlemev  Li6uflhlem suull ear
G@eulin Hlemevemiiail
IHewrs @ ms G
Curg) 2 (meuTSHmg.

&HMI LOMHMILD SMT6vOTLd (@7 6vor(HILD
aifl.

& HM] LOMMILD SMTeveTLd @)T6vor(HLD
SH6LMI.

SMm &fl 9 earme SIyewrid
Gnmemm eileTs S leuemev.

&Ml &ifl LoHWILD SMTTETTLD S MMM
O EAEEAETE

171. Biggefls@nL, 5 0.0, a9l L SSnE CLos

o srer  U6tflS G161 & EmLD
sreriu@ Gurflelns
sTeoTm)] GlLILIT.

&[G

(1)

I OBIGL g LOEDLY
(2) uesfl
(3) oo

&6V LDGMLY

(4)

26

170. Assertion (A) :

171.

Dew is a water droplet
by the

condensation of water

formed

vapour on a relatively

cold surface of an object.

Reason (R) : It is formed when the
temperature of an object
drops above the dew

point temperature.

Both (A) and (R) are true.

Both (A) and (R) are false.

(A) is correct but (R) does not explain

(A).

(A) is correct and (R) explains (A).

The Precipitation which takes place in the
form of mixture of water droplets and

5 mm diameter of tiny particles of ice is
called
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173.

174.
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172. Choose the incorrect statement.

173.

174.

Consequences of Urbanisation :

(1)

Rapid rate of urbanization results in

the development of slums.

Over crowding leads to unhealthy

environment.

Removal of garbage is a challenge for

urban local bodies.

Increase in the number of two and

four wheelers avoids air pollution.

Find the odd one out :
Explosion
Volcanic eruption
Earthquake

Drought

The number of members in Rajya Sabha

elected indirectly is :

138 228

238 234
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175.

176.

The time duration for singing or playing

on National Anthem is seconds.

Choose the incorrect statement.

Powers and Functions of Governor :
(1) He appoints the Chief Minister and

Council of Ministers.

He acts as the Chancellor of State

Universities.

He may nominate one member from
Anglo Indian Community to

Legislative Assembly.

5 members

of the Legislative Council from

He may also nominate

among persons who are expert in the
field of science, literature, arts, social

service and co-operative movements.
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177. Pick out the correct statements.

A Judge of High Court must have the

following qualifications :

(a) He must be a citizen of India.

(b) He must have at least one year of
experience as head of the judicial

office.

(c) He must have at least ten years
experience as an advocate in one or

more High Courts.

(d) Age limit is below 35 years.

(1) (a) and (b)

(2) (b)and (c)

() (c)and (d)

4)  (a) and ()
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refers to alien who has been

granted the right to reside and work

permanently without restriction in a

particular country.

1)
(2)
(3)
4)

Citizen
Lien
Immigrant

Overseas citizenship

Article 26 deals with :

(1)

(2)

Equality of opportunity in public

employment.

Freedom to manage religious affairs.

Ban on discrimination in state - aided

educational institution.

Right to non-participation in
religious worship in certain

educational institution.

Plastic money is :

1)
(2)
®)
(

4)

Net Banking
E-Money
Debit Card

E-Banking

-00o0-



[ CODE [vHI| II | 19 |

Sie| aremib UGS (ST 19nE 2 UL 56060)
FOR ROUGH USE (Not for evaluation)

31



[ CODE [vHI| 11 | 19 |

Sie| sremib UGS (ST 19nE 2L UL g6ev)
FOR ROUGH USE (Not for evaluation)

32



